VINCENT J. DEROSE T 613.787.3589 vderose@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St, Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 blg.com



Our File # 339583-000208

By electronic filing

August 31, 2015

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street 27th floor Toronto, ON M4P 1E4

Dear Ms. Walli

Re:

Enbridge Gas Distribution Inc. ("EGD")

2014 Deferral Account Balances and Earnings Sharing

Board File #: El

EB-2015-0122

Pursuant to the Board's Decision and Order dated August 20, 2015, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to EGD as instructed in the Decision and Order.

Please contact me if you have any questions or require any additional information.

Vincent J. DeRose

Yours very truly

\slc

enclosure

c. Andrew Mandyam and Lorraine Chiasson (EGD)

Paul Clipsham (CME)

OTT01: 7184427: v1



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				Instructions				
- Required da	ta input is indic	ated by yellow-shaded fie	lds. Formula	as are embedded in t	the form	to assist with calculation	ons.	
- All claims m	ust be in Canadi	ian dollars. If applicable,	state excha	nge rate and country	y of initia	ıl currency.		
			Rat	te:		Country:		
Being Claimed Disbursement - The cost clai - A CV for eac	d") is required for ts" covering the im must be supp th consultant/ar	nd Disbursements Being Cor each lawyer, analyst/cowhole of the party's cost ported by a completed Affinalyst must be attached unded in section 7.03 of t	onsultant an claim shoul idavit signe nless provid	nd articling student/p ld be provided. Id by a representative led to the Board as p e Direction on Cos	e of the parescribed	. However, only one "S party. d on the Cost Award Tar ls, itemized receipts	iummary of Fe riff. must be pro	vided.
T:1 _ # ED	2015 0122		D	_		ution Inc. 2014 De	ferral Accou	ınt Balances
File # EB-	2015-0122		Proces	s: and Earnings	Snaring	<u> </u>		
Party:	Canadian N	Vlanufacturers & Exp	orters	Affiant	's Nam	e: Vincent J. DeRo	se	
HST Numb	er: <u>1080</u>	10807 5482 RT0001			H	ST Rate Ontario:	13.00%	
		Full Registrant			Qual	ifying Non-Profit		
		Unregistered				Tax Exempt		
		Other	V					
				Affidavit				
١,	Vincent J.	DeRose		, of the City o	of	Ottawa		
in the Prov	vince of	0	ntario			, swear or affir	m that:	
2. I have exam Claimed", "Sta 3. The attache Being Claimed referred to ab 4. This g ost ck	nined all of the catement(s) of Feed "Summary of d" include only coove."	e above-noted party (the documentation in supportees Being Claimed" and "S Fees and Disbursements costs incurred and time spublication clude any costs for work of Board's Practice Direction	of this cost tatement(s Being Claim ent directly one, or tim	t claim, including the) of Disbursements B ned", "Statement(s) or for the purposes of e spent, by a person	e attached Being Clai of Fees Bo the Party	d "Summary of Fees and med". eing Claimed" and "Stat y's participation in the C	d Disbursemer ement(s) of D Ontario Energy	isbursements Board process
Signature	of Affiant							
JISHALUIE	VIAIIIAIIL							
Sworn or a	affirmed be	fore me at the City	of	Ottawa			,	
in the Prov	vince of	Ontario		, 01	n	August 31, 201	15 .	
Commission	<u>Therical and the state of the </u>	ing Affidavits				(date)		
		979			Kathar	ine Merriam Eddy, a Con	nmissioner, etc	

Katherine Merriam Eddy, a Commissioner, etc., Province of Ontario, for Borden Ladner Gervals LLP, Barristers and Solicitors. Expires February 3, 2018.



Affidavit and Summary of Fees and Disbursements

Enbridge Gas Distribution Inc. 2014 Deferral Account Balances

File # EB- 2015-0122 Process: and Earnings Sharing

Party: Canadian Manufacturers & Exporters

Summar	y of Fees and Disbursements Being Claim	ied
Legal/consultant/other fees	\$13,246.00	
Disbursements	\$59.75	
HST	\$1,729.75	, s
Total Cost Claim	\$15,035.50	

Payment Information

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Vincent J. DeRose

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9



			Enbridge C	as Distributi	ion inc. 2014 i	Deferral Account	
File # EB-	2015-0122	Process:	s: Balances and Earnings Sharing				
Party:	Canadian Manufacturers & Ex	xporters	Service Pro	ovider Name:	Peter C.P. The	ompson, QC	
	Service Provider Type			Year Called to Bar		Completed Years Practising/Years of relevant experience	
	Legal Counsel	_ /		1967		45+	
	Articling Student/Paralegal		•	ř			
	Consultant				i	Hourly Rate: \$330.00	
	Analyst						
	For Consultant/Analyst:		CV attached		HST Rate Char	ged (enter %) 13%	
			CV provided	within previous	24 months		
	S	tatement o	f Fees Bei	ng Claimed			
		Hours	Hourly rate	Subtotal	HST	Total	
Preparatio	n:	0.20	\$330.00	\$66.00	\$8.58	\$74.58	
Interrogate	ories: Preparation	8.10	\$330.00	\$2,673.00	\$347.49	\$3,020.49	
	Responses		\$330.00	\$0.00	\$0.00	\$0.00	
TOTAL SER	VICE PROVIDER FEES			\$2,739.00	\$356.07	\$3,095.07	

Ontario Energy Board **COST CLAIM FOR HEARINGS Detail of Fees being Claimed**



File #:	EB-2015-0122							
Process:	Enbridge Gas Distribution Inc. 2014 Deferral Account Balances and Earnings Sharing							
Party:	Canadian Manufacturers & Exporters							
Name:	Peter Tho	Peter Thompson						
Apr 23-15	Considering and composing email to A. Mandyam; considering 0.2 Preparation his response							
June 2-15	Reviewing pre-filed evidence; considering issues and possible 3.2 Interrogatory Prep Interrogatories to EGD re: amounts presented in evidence							
June 29-15	Reviewing Procedural Order #1				Interrogatory Prep			
June 30-15	Drafting In	terrogatories	s for EGD	0.8	Interrogatory Prep			
July 6-15	Reviewing	evidence; d	rafting Interrogatories for EGD	2.5	Interrogatory Prep			
July 7-15	Finalizing	draft Interrog	atories	1.5	Interrogatory Prep			
			Total Hours for Peter Thompson:	8.3				
		<u>Hours</u>			<u>Fees</u>			
Preparation		0.2	x \$330.00/hr =		66.00			
Interrogatories	Prep	8.1	x \$330.00/hr =	2,673.00				
		8.3	Total Fees for Peter Thompson:		\$2,739.00			

OTT01: 7163427: v1



File # EB-	2015-0122	Process:	•	nd Earnings		Deferral Acco	unt ————
Party:	Canadian Manufacturers & Ex	porters	Service Pro	ovider Name:	Vincent J. De	Rose	
	Service Provider Type	(check one)		Year Called to Bar		Completed Years of relevant	
	Legal Counsel	\Box		2001			4
	Articling Student/Paralegal		_				
	Consultant			,		Hourly Rate:	\$290.00
	Analyst						
	For Consultant/Analyst:		CV attached		HST Rate Cha	rged (enter %)	13%
			CV provided	within previous	24 months	4 months	
	Si	tatement o	f Fees Beir	ng Claimed			
		Hours	Hourly rate	Subtotal	HST	То	tal
Preparation	n:	3.60	\$290.00	\$1,044.00	\$135.72	2	\$1,179.72
Interrogato	ories: Preparation	2.60	\$290.00	\$754.00	\$98.02		\$852.02
interrogate	Responses	1.20	\$290.00	\$348.00	\$45.24		\$393.24
Settlement	: Conf: Preparation	10.70	\$290.00	\$3,103.00	\$403.39)	\$3,506.39
	Attendance	5.00	\$290.00	\$1,450.00	\$188.50		\$1,638.50
	Proposal Preparation		\$290.00	\$0.00	\$0.00		\$0.00
TOTAL SER	VICE PROVIDER FEES			\$6,699.00	\$870.87	,	\$7,569.87

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2015-0122								
Process:	Enbridge Gas Distribution Inc. 2014 Deferral Account Balances and Earnings Sharing								
Party:	Canadian Manufacturers & Exporters								
Name:	Vince DeRose								
May 20-15	Reviewing Application	0.7	Preparation						
June 11-15	Reviewing ESM Application	1.4	Preparation						
June 17-15	Reviewing evidence; drafting letter of intervention	1.5	Preparation						
July 13-15	Reviewing evidence and draft Interrogatories	2.6	Interrogatory Prep						
July 23-15	Reviewing interrogatory responses	1.2	Interrogatory						
July 25-15	Reviewing interrogatory responses, and preparation for Settlement Conference	4.2	Responses Settlement Conf. Prep						
July 26-15	Prepare for Settlement Conference	2.5	Settlement Conf. Prep						
July 21-15	Reviewing evidence; prepare for Settlement Conference	3.5	Settlement Conf.						
July 27-15	Prepare for and participate in Settlement Conference	5.0	Settlement Conf. Attend						
July 28-15	Reviewing settlement proposal	0.5	Settlement Conf. Prep						
	Total Hours for Vince DeRose:	23.1							

	<u>Hours</u>		<u>Fees</u>
Preparation	3.6	x \$290.00/hr =	1,044.00
Interrogatories Prep	2.6	x \$290.00/hr =	754.00
Interrogatory Responses	1.2	x \$290.00/hr =	348.00
Settlement Conf. Prep	10.7	x \$290.00/hr =	3,103.00
Settlement Conf. Attend	5.0	x \$290.00/hr =	1,450.00
-	23.1	Total Fees for Vince DeRose:	\$6,699.00



File # EB-	2015-0122 Proces	Enbridge Gas Distributio ss: Balances and Earnings SI		ral Account
Party:	Canadian Manufacturers & Exporters	Service Provider Name: V		
	Statement of D	isbursements Being Claim	1	T-4-1
Scanning/	Photocopying: 39 copies @ \$0.25 each	Net Cost \$9.75	HST \$1.27	Total \$11.02
	Surcharge - as in previous Cost Claims	\$50.00	\$6.50	\$56.50
Other:			\$0.00	\$0.00
TOTAL DIS	BURSEMENTS:	\$59.75	\$7.77	\$67.52



File # EB-	2015-0122	Process:	Enbridge Gas Distribution Inc. 2014 Deferral Account sess: Balances and Earnings Sharing						
Party:	Canadian Manufacturers & Ex	(porters	Service Provider Name: Eden Alexander						
	Service Provider Type	(check one)	_	Year Called to Bar			rs Practising/Years nt experience		
	Legal Counsel	Ø	-	2014			1		
	Articling Student/Paralegal		-						
	Consultant				Hourly Rate		\$170.00		
	Analyst								
	For Consultant/Analyst:	V	CV attached		HST Rate Charged (enter %		13%		
			CV provided within previous 24 months						
	S	tatement c	of Fees Beir	ng Claimed					
		Hours	Hourly rate	Subtotal	HST	T	otal		
Preparatio	n:	22.40	\$170.00	\$3,808.00	\$495.04		\$4,303.04		
TOTAL SER	VICE PROVIDER FEES	`		\$3,808.00	\$495.04		\$4,303.04		

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2015-0122							
Process:	Enbridge Gas Distribution Inc. 2014 Deferral Account Balances and Earnings Sharing							
Party:	Canadian Manufacturers & Exporters							
Name:	Eden Alexander							
Apr 1-15	Review EB-2012-0459 in preparation for Stakeholders Meeting; attend Stakeholders Meeting via webX	7.1	Preparation					
Apr 8-15	Report re: Stakeholders' Meeting; respond to emails	1.9	Preparation					
Apr 8-15	Prepare for Stakeholders' Meeting; attend Stakeholders' 4.4 Preparation Meeting via teleconference; conference with P. Thompson, V. DeRose and E. Blanchard re: upcoming applications							
Apr 9-15	Telephone call with D. Quinn re: Stakeholder's conferences; reporting letter re: Stakeholder's meeting	Preparation						
Apr 10-15	Send Report on Stakeholders' Meetings to P. Thompson; review Board Staff Submissions re: Settlement	0.5	Preparation					
Apr 17-15	Review of Deferral Account Financials with P. Thompson	0.5	Preparation					
May 25-15	Review ESM Application Materials and draft addendum of report to client	1.9	Preparation					
July 9-15	Review Draft interrogatories and memo of P. Thompson	0.6	Preparation					
July 10-15	Review materials from EB-2012-0459 pertaining to post retirement true-up variance account said to have been agreed upon in Settlement Agreement	1.5	Preparation					
	Total Hours for Eden Alexander:	22.4						
	<u>Hours</u>		<u>Fees</u>					
Preparation	22.4 × \$170.00/hr =		3,808.00					
	22.4 Total Fees for Eden Alexander:		\$3,808.00					





Education / Bar Admissions

Bachelor of Civil Law, Bachelor of Laws (B.C.L/ LL.B), McGill University, 2013

Bachelor of Arts (Combined Honours Degree in International Development Studies and Social Anthropology), Dalhousie University, 2005

Law Society of Upper Canada, Ottawa 2014

Professional Involvement

Member, Indigenous Bar Association Member, Canadian Bar Association

EDEN ALEXANDER

Associate

T 613.787.3542

F 613.230.8842

Ottawa;

EAlexander@blg.com

http://ca.linkedin.com/pub/ede

n-alexander/99/a03/92

Environmental Law

Municipal Law and Other Government

Municipal Planning

Expropriation

Aboriginal Law

Team North®

Land Development

EXECUTIVE SUMMARY

Eden Alexander is an associate at our Ottawa office. She is a member of the Environmental, Municipal, Expropriation and Regulatory Group as well as the Aboriginal Law National Focus Group. Prior to joining Borden Ladner Gervais in 2015, Eden articled with the Ministry of the Attorney General of Ontario in their Toronto civil litigation office. While studying law at McGill University, Eden was a research assistant for the late Roderick Macdonald, a member of faculty counsel, and was an active executive member of the Aboriginal Law Student's Association. She also clerked with the Court of Québec in Montreal.

PUBLICATIONS & PRESENTATIONS

 Co-Author, "Province Announces Bill 73 the "Smart Growth for Our Communities Act," BLG's Municipal Law Bulletin, March 2015.

ABOUT BORDEN LADNER GERVAIS LLP

Borden Ladner Gervais LLP (BLG) is a leading, national, full-service Canadian law firm focusing on business law, commercial litigation and arbitration, and intellectual property solutions for our clients. BLG is the country's largest law firm with more than 750 lawyers, intellectual property agents and other professionals in five cities across Canada. We assist clients with their legal needs, from major litigation to financing and patent registration.